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Information & Communication Technology I

Note :
¥ Anwswer five (05) guestiony oniy, incliuding rhe first guestion gnd Sour others,
® First guestioa carries 20 marks and each of the other guestions carries 10 marks.

- —=

L. i} (1) Conven the binary number 110§ | IOV, wo Ol Show steps in your calculation,
(b Convert hexadecimal number 752, 10 hinary. Show sleps in your calculation,

{ii} A fMashlight with modion ang light sensors is Iocated ouside o Tront door of u building. The light tums
on’ avtomalically when it is dark and when someone approaches the door Trom mulside {when both
comlitions are satisticdy, The medion sehsor lums from OFF (0) w0 ON (1) when someone COMeS  near
the door. The light sensor is ON {1} when there is light and OFF () when it s dark
The block disgrum of ihe cireuil Fipure | relating 1o this scenario is shown bl o

r Light sensor " Q Flashlight
t Muolion sensor

Figure ! - Lowic Circuit

() Whal are the suilable logic gales tor I* and 0 in the ahove epenil?
#

The above circuit s moditicg by addiog an OR gae and o switch [ON (1), OFF (] as shown
below in Figyee 2
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b} ldeauly which «f the twa in the Tollowing sigiements ane eorrect reparding the modilficd circuit
given in Figure 2 Write down the relevant statement numbers,

Figure 2 - Modified Logic Circuit
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Write dowss fme cuamnle oo HAP thput. prawess and oulpul of the mlormation syswem.
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(v} The following pons labelled @. & ap found in a computer. -]

SRR
o/ .=
& ® L& (3] ®
Write down the relevant label of (he porl relaled Lo the following questions:

(a) Which port can be used 10 accese Internet using a network (LITP) cable?
(b} wm:punnmbctuudmcmnmncﬁgimmmmmc:wpmmsimuummﬂ

(vi) The document glven below was created using 2 Word Processing software and it was formatied as inclicated
by labels (U 1o @, Assume that the font size of the document has nol been changed.

Before formatting After formaiting
Covalent Bonds Eovalent Bonbs = 1)and (3)
Electron sharing between atnems i another method | Blectron sharing between atoms is another method
of forming bonds among them. By sharing of | of forming bonds among them, By sharing of
clecirons like this, the aoms acquire the noble | electrons fike this, the moms acquire the noble
gas comfiguration. Joining of aioms by sharing | gas configuration. Joining of aloms by sharing

electrons between a pair of atoms is feferred 1o is referred to

85 a covalent bond. & a covilent bomd. )
Sharing of electrons between atoms of the same | Sharing of electons between atoms of the same

kind gives rise o homoatomic molecules, kind gives rise w0 homoatomic malecules,

€-g- hydrogen (H2), Nuorine (F2), oaygen (02, €.g. hydrogen (H,), Auodine (F,), oxygen ().
| nitmgen (NZ) nitrogen (M, )k 1 4
(Source; Science iex brok-grade 10, pl74)

@

Some formatting tools available in Word processing soflware are shown below with labels @ . 6,

P2 29t 17999 9999

SELECER RS SC ] PRy P T

g

Identify the tool used for each of the formaiting tasks indicated by the labels @ to @, Write down

the number assigned 1o the formatting tasks (D- @) and the relevant label of the wol.
Mole: No marks will be awarded if more formatling tools than necessary are given in wour mnswer.

(vii) Determine whether the fdlowing statements are True or False, Write down the statement number and
whether the statement is True or False

@ - Internet Protocol (1P} address is used o unigquely identify & computer on the Intermed

@ - File Transfer Protocol (FTF) is used 1o transfer files between remode computers,

@ - Myperiext Transfer Protocol (HTTP) is wsed 1o exchange himl documents.

@ . Files and folders in a choud eomputing environment can be accessed withoul an Intermet eonmection,

tvili} Some ieans used in graphic design solware are labelled as & - @),
1= 19
i b ‘_- : ___J
@& ® @ @

Identify the cormect name for cach ool from the list given below. Write down the tool name against

labels (@) -
List: {crop tool, lasso oo, hand tool, brush ool clone stamp iool, magic wand tool, move bood }

T T T
I — e
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(ix} The following diagram shows the interaction betwesn 8 mser and a compuler system. ldentifly matching
terms for labels @), @ and@ in the disgram from the following list, Write down the label and

cormesponding  Werm.
List: |Hardware, Application software, Operating system software, Livewarc|

@B (@ Yo @)

(%} Assume that 8 dice was thrown 10 times and ihe 0 values obtsined are stored in an wrray named A,
The following algorithen with missing terms @, @ and & is used 10 calculate how many mes number

5 was obtained,

count=i]
i=0 Index of amay 0 | 2 3 4 5 6 78 9

white { < ® a [1f3]s[a]2]iTsTa]e]i]
if Al =5 then
® =counr + |
end if
i=1+]
end wilille

display court
Wrile the comect terms for lzbels @, @ and ® in the above algorithm.

Z. (i) Consider following stalements (1) - @) regarding ICT related security issues.,
@ - A malware program that replicates itself to spread 10 other compulers.
@ - Unsolicited (unwanted) email received into the inbox of an emall soflware.
@ - Pretending 1o be a trustworthy communication, attempting 1o obtein someone’s uwermame and password
of a bank account,
@ - Display unwanted promotionsl material in’the form of pop-ups in a webpage,
Identify the matching terms from the list given below for each of the stitcments (@ - @, Write down
the statement number and the relevant term from the list,
List: | Adware, Spam, Phishing, Bots, Computer worm, Firewall |

(i} The diagram shows how a person works on his COmplber,
Write two healih reluted issues that he may face due o the postore.

(i) Consider the following scenarios labelled @ - 3.

@ - A person copying licensed software downloaded from Internet and selling 10 others.

@ - A person logging into a social media account using a stolen user name and a password.

@ - A farmer in one country uses agricullural information on web, while a farmer in another country
is wnable 10 wse such information sz he does not know how 1o use compaders amd does nod have
wccess o Indemed,

ldentily the suitable terms from the list given below for each of the sbove scemarios and wrile down

the relevant term against the labels (3)-(3),

List: | Piracy, Cyber crime, Digital divide, Privacy, Electronic business |

[see page len
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-8 on the left and its ootpat on the right.
HTML source

3. (i} Congider the following figure which shows HTML source file with missing tags and parameters labelled

<IDOCTYPE himl=
<html=

<hody=

<h2~- Milk Rice <M@b-<h2-

<@ sre="milkrice jpg” ali="Milk Rice">

<p align ="@"> "dP=Kidbath<@: is a itraditional dish
which is At for any auspicious moment. Kiribath also
known as milk rce i normally served with *lunw
miris", 8 mixiwre of red onions: and spices as well as
with bananas, jaggery & cumies. [f's o must have for
<l=MNew Year<W@- celcheations & a popular breakfast
dish 00" </p=

<@

<dic=3 Cups of Long grain rice (shor grain or white rice}li-

li=3 Cups of Coconui milk {thick}li=

iz wcliffon | B/ 22 @ Cups of Walerali=

iz <l 1@ Teaspoons of Salt <li=

</

<y
il [

"Kiribath iz 8 traditional dich which iz fit for
any augmciols moment. Kinbath allso known
as milk rice is mormally served with “lunu
miris”, a mistee of red onions and spices as
well a5 with bananas, jaggery & curmies. I's a

must have Mew Yeur celebmitions & a popular
breakfast dish oo™

* 3 Cups of Long grain rice (shon grain or
while rice)

= 1 Cups of Coconul milk (thick)

= 4 ¥ Cups of Waker

* M Teaspoons of Saht

code above and write them down against cach number.

CropTrim ood in graphics software,

of image in & frame.

Select the commect tag o paramcter from the following list for labels numbered @8 in the HTML source

List: |cenier, b, br, em, img, justify, i, of, 5, sup, sub, p, tr, id, marques, u, ul
(i) Determing whether the lollowing statements are TRUE or FALSE.
(1) Mumber of pixels can be reduced by removing unnecessary sections in edge of images using

(@ Size of video files can be reduced by making the Trume size smaller and reducing the resolution

) The size of andio files can be compressed by decreasing the sampling rate.
Write down statement labels - (@) and write whether the above stalements are TRUE or FALSE.

4. The following spreadsheet segment shows CO, emission (ki) of some Asian countries in the years 1972 and

20014,
A A B8 | £ | B i E
] OOy, Emission (i) of some Aan courtriss
o eia il | e

m:g| TI1EA 53
3567 101

s‘li|§ l
i

e e e

H!-'SJ'!H‘I[ pLkE s L]

T indla

FITRR A AL
1 lapn HENATA2F0] 171808E )
9 Sl Lanks FARIEE|  1EFNIETE
L A5 1334780

11 Tkl £ Benleben i)

beiween years 204 and 1972 in Bangladesh.

emizsicn from 1972 w 2004 for Bangladesh,

{mource World {J‘cl'g.l'ap.lnc'.l;] .l'.l'l:d-l'r.'q:e_t-r.l;'.'.::l--" -
(i) Write down the Formula that should be wriiten in cell [ 1o find the difference of 0. emission

| Difference = Value of year 2004 - Value of year 1972 |
(i} Wrile down the formula that should be written in ccll B4 o calculate the pereemtage increase of CO,

| Percentage Increase = (Difference™alue of year [972) x 100 |

A

[see page eleven

e e
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(iif) Assume that the two formulae entered 1o cells DM and B4 are copiod (o0 the cell mnge DS:EI0.
Wrile down respectively the two formulae displayed In cell D9 and E9 that are relsted to 5o Lanka,
{iv) A formula in the form of =function {(celll :cellZ) is written in cell B11 to calculate the wtal €O, emission
in all countries in 1972, Wrile down the relevant terms for function!, celll and cell?.

{(v) MName the most suitable chart lype in spreadsheet software to show (he OO0, emission of given countries
in 1972 and 2014,

5. Assume thal the following database tables sre used to calculate the electricity bills. The same raie s used
to complete the bill of & given customer.

Customer_Data Table Rate Table Usage Tahle

Name Acc_No | Type Type Rate Moath | Acc_No | Units
AB. Silva 001 | R K 10.50 January | 1001 185
V. Balasingham 1002 C C 18.50 February 1001 280
5.5 Gamage wer | R Jamary | 1002 165
RT. Alles oM | ¢ May 1003 270

(i} Write two primary keys and their cormesponding tables,
(i) Write two forcign keys and their cormesponding tables.
{iii) What would be the most suitable table in the datsbase 0 add the field customer address?

{iv) What tables should be updated if a new customer called A5.C Navaz of type R has used 120 wmils
for the month of April?

(v) Write down the updated rows and their respeciive table names for the updates given (iv) above. [Assume
that Acc Mo is 1005.)

(vi) What tables should be joined w run a query o find oul the total bill for AB. Siha for January?

6. (i) Consider the following scenario related to the development of a lbrary information SyalEm,

The librarian proposed o introduce a new computerized information system (o Mangge s operations,

Anwar identified the requircments of the proposed system. Then he designed a system that satisfies the

requirements. Based on the design made by Anwar, Malani developed the sofiware, Krishma tesiod

the software. Saman installed the system in the library. A few moaths later, Malani fixed problems

In the new system and modified the sofiware W0 print iwo additional reports,

(@) Who is invalved in (he coding (implementation) phase of syslems development life cycle?

(bl Which phase of the systiems development life cycle was carried out by Saman?

{c) Which phase of the systems development life cycle was carried oul by Krishna?

{(d) Wrile two different methods that Anwar an wse o understand the requiremenis of the proposed
syaliEm,

(e} Anwar assessed whether the now system is able o run with the available compuders in the library.
What feasibility was assessed in this soenaro?

{ii} The following steps A-F show the process of visiting the ‘hitpiwwwoniclk” web page by @ user.

A - Request 10 translate www.nic lk domain name 1o the 1P address iz sent to the DNS {Domain
Mame Server)

B - DNS retomns the IP address 222 165,180,150
C - Web browser renders the HTML weh page

D - Web browser sends a ‘hitp: Get” roquest (0 the wehserver with the IP sddress 222,165,180, 150
E - Webserver with IP address 2272 165180, 150 retumns the himl data stresm
I - User opens the web browser and enters “hitpfwww.nie Ik

o

[ [P G I
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The following diagram shows the process related (0 the above list of steps, The labels @, @ and &

are matched with sicps B, D and E respectively. Match the remaining steps with the labels @, @ and
in the diagram in the comect onder. Write dnwnumhhdwwmnnpmmn;aup.

)

/& %: % DNS Server Léi
User i BrTw:nr @ﬁ

@éﬂ\{& Web Server ﬂ

T. (i) The following flowchant shows an algorithm that reads two numbers and display the smaller number,

START

v mmrrr A, B J

Mo w Yes
¥

/ DISPLAY A / / DISPLAY B /

|

Write the pseudocode for the algorithm in the fowchart given above.
(i) The following fowchan reads three numbers and finds the smallest. Write down the correct X pressions
for missing labels ® and@,

START

/ INPUT A, B, C /

L
/' DISPLAY B/ / DISPLAY € /




